p \\C\\ CO“eﬂc O-( Eﬂgmeexmﬂ
End Cennedles E')IG\/V\\Y\AL\O\/\

Bianda S & (V\ec\n’Au\\>
&Y "

@ = +\ = O M‘\'XMM\L: 60 -

Mime 2 hvys .
:QCOS‘Y\-\—O\S\W\TD

% swmlk+ )L
:cOsLD-KH)%Jr\S\ﬂb oL

®

CONesL e o)ba )3?4‘)5—'

(N oy
L e o el
o6 — o L

& o

o o\n3

o

an Sy

— e G o 5
=59

o
of=) =\
— Cos:‘f.+ SN 72 0

= a0 AE=tan AW, .
W, st 6" 4
= = o (= +4) o
e

Al e 1)
— SN

\
.,-—> 'PU\L ~x =4 > :

Plier— 1 = A=

—_—

R -
s > ° 7 :
- L—-—-————N‘S' o "'L_,.,.,————'D' & 2 %V O*+b
%ﬁ:’ ). : 20 ™=\ 'IS\‘n\ O\V\
&DC—\'4) Qﬁ"*} A0 OM' <"
(a9

(ED



M

@ Q_‘) VA 3\3 A »\O\Moﬂe NCOWS '—CUMC\AQ:V') o)o Ao Vosia —

Ples ) &eﬂ‘we N —then 1%&_‘_.%%%= Wu.@

@) u= log -—'}J+ log 4 . () u=2xy?
Rl =t ) azcﬁ\t . ' u&’nho:&&ﬂ«eqi
RN ot o\

.uaY\fg"%—*O{]%} = yBy_
E U \"OW\CS"“QM OXF @ Y
c,\eﬁ'cee o - f_@
= 'I@_L.J + L oU_ nut




B G . i S ety

B
@ Ma c\ (\um‘(\s Se

'Pto) +’12 ol

\ ) '\'1'1'“63-'—-‘-
= \v (=) = La(& — 03(1 v n
o -0
: = |
r e ( —
Q Pt =Y N=_1
L ek
tS'): -\ - k\\'ﬁ.(""‘) RO ——
QD™
ot o
63: YR 3______>st(0’) e ~@
Q4D
% o
-—\- —
k()’ \QC)(\—MO it \\0 >\ 3\0
& o .
sl
.—:L——-_':ﬁ__\__ﬁ‘__iv—{‘.
— = - L &)
@ U gco_ga 9= és\m&
0. 3
au ou Srosy. SR
- __M &l T > i i ]
8("‘)‘6) 8\0 -a_\i_ 625\\'\\3 ew‘a
oOx 8‘3
15 &
\ e
e -
@ : 9(—\—2\3-"75 =
m+%*28;q‘
=
oAty e
, =
\ ) e \ \ q
oy
D/ \ "\ \‘ 2

oV W MSSSeT L




>SL+Q&"% = —®
~—\d+%g—8f—/@
=N "9/_32,_:,3_ >
& = M
®=> St+2_3:\
S
Cogn &

- oy

@ \OSE‘:\(\C'X_H\&D] ams
g @
08 stnae cﬁg‘mx «ﬁc@sxsm\né} a-+ib.

\ 46\!\:\ ﬂg

e Cy;‘nQLA—\— C@é"AS\(\\ﬂkA -
; Sl\/\’)( LCS\’\

—;—"O‘Z, SN
(1+\b i @
(%) 3

- -"\O‘a[ﬁ'ﬁ*%_ % Cacenr g
oL h
Qo,gz’l(mh ’




._. 9 )k Q_'l‘__-L
__‘\;\03 Rahy — c82= - D'}

2

= L \+loah2Y~ _ Casnt _ =
o 08 L‘___{i_ A =5 2

At ) Codnaee SR
e —

oS

\oa Qﬁ\ﬂu& -~

HA =
20

—ge = Con hivy—(Cospi
7 T E— |

B

Q2N
q> whoﬂbﬁa\ AAT“ ATA 1 @
Ay e
O\
4 ':r
o po &”j Z;_ 21
o VBeat

ﬁm&rm{g A\A— Yo
\

_> A d\,& ng»\\nodoﬂa\
A eeRs ‘ AV

~\
— A =



b> u=i(2u-3%>3a~42’,)43,1r1> |
= '2'7('—3'3) ()= 3y— 4%, Q"‘"%“l'x %

su_ Su pp 4 24 29, O OF
S op ©onx D On R v -

= Ul ol 2 to) -t e o)
op oa OF
B o - 2es T M ()
& P oa o
S NSRS o = .
R - o
S oy co o gD | ASLIE
AL e 2 BP DR o¥
o e e B
e o) OR

9 5 byt = e
DA 19T Y T 2 )
o 2yt 587 14
© '%;\
5= i

|S
X;%\ % ’;)\oj/‘iw ;
= = | 1323 E%’O‘%‘D]
B e GEE
%, = © 9090 ‘| =\ 1223, ua,\ o%ﬂ
\




& LoﬂA ;g\‘e,t O;U\D\ﬂ

4=

1-0489, %ﬁzo'cwoqo

o = |. 0028 °
St=il. 002 s o

\U

69_ — |} posS*H
= ‘0028, Y= esere

Pt (o clasit ] (:>
Twod lalisn

I3 onE o e el
S =
X ol A Al

o. A9

S— Ok o\’qql) 33::

G

\035 | ey

et OC\O\Q:}) (é:_\_oOO\
A3 = W
e W P ©
(3: \roeol 5 5= higs <
~, = o -aa99
Sﬁ:o.c\"\qq) - 17 i
5 S \‘ocOO
Af
oo S

Te—. ol e

= T o el g_ﬂ’<:>
)




) 8 ¥ swax-a ymimniiadl o ,
) B A4 05 =D
-10 158 |00 Qa5 ~I®O
e v 20:  a, A400 —]20
By g% 2 B L oo Eao
By B i 5 3 s
A=138)] : o o ; 3 Eiy
A 0 B=EG | 2 -1 ‘ 294 = L0
319 o \ 4l Vo D45 <3
42 BO " il 1 |2l 1.
4 1 =4 2 ‘ S \
4¢ e q_ "453?

N :
L
Pl @fx)l‘ =2 (= )
\\ g - {7
- 4503 (-——\33.(1)
K
b
(feo- 2 (= )
|0
- 4B +2°C L

{Geo- 6D a2 (Eacd(and

) cLLk‘ : | iy
a> y*ba: G. ===> x = —\tlb. (Rn,a&:w\( ab &

i W &
342y =10 - Y = Ji(——?m) 4B (R‘"‘{) N \

a,ov\')(-







f(oed= 0635
Wee = 2t

eond Al

QZ: 05"‘(0 b5
—A:- a5

= 0 b43|
PC(O-ba(q}) L0 0356
vrlCo-bév:'D o 2

Thad odin~Ten

X — O .62 —

- A

880 octo) — b 0Gooth.

e(?( Gl eSSty — — 2 loes

o.coco3b

~a

— 2. Mlo6
= W N5 bgéJQ)

o | el _,__@




fie= (3 i (o R REE
§e e e d G
=0
Ly =e)
J\iro = 3i+3\§—6’1=0<9® s>6aC9ﬁ l
f\. é\T:o o) = —
Pk U= ontn@ \
Eig Pu\i’q:-“;ﬂ®
::> 5'12——- GPE — O BLQZ—ED;O
e 5
3@9—_3 =0 -
® =0 @’%)1:1‘ A
@/O) ) C270> __,>U)\> )6)— D) @
= 4 =3 G —= (S
L= (%d
£ = “Y"ud = GL(\
P \ ool Volue
Sl e s
» D = SO AR MU o
LOIO e B (2 23 0
(<O
M nimun 3
0 3% 72 ©
2,0) g b
& 2O
3 SBaddl
(LD ol ol & 3640 Q?Mv\\r
Clro-Y) i | o e dcens coebdle Pcw/i




(2-» e G)n—t—{\ —2 E\_/\]Z{D_a:o :

(2D =4 (AD +20O-DF oD o
A=V {2,\ e +4A+31/o
U'D [-—A—HM—EE =—i(J) ¢

A= )51,5. /@
| 3 | = .
| P! l Z(z s {
)
Oq
| o \ ”l
2 O 9 ©
[ ¥ OX

(&)

Fox )

—

o O




PU\) Aa = \’\, jlzkl.,

D(\'fl'?(l_*\"l_g:o‘

=X -\—'?__k)'"’-b\ S O
f)(\ e ""2\-’2-\—’\
X = Wi
i o







